EARAZROREIERT — 2 N—XBISY —F 2012511238 (&) 15[E114&E3H

el co—14# C2 ¥5%R3EL B R
[A&4£] 1% :100,000  ~ 2% :23,000 ™  33#%&:9,00M . 437%&:5000MH  53%&:3,000H
B BB mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N g =i > AallliEg :30. —4-0— . — EHEEA (&8
11717 SaRrRAH—T> T3 56.0 1(:?)7 S %8 2 (5+261) %EE—F‘: -
LT RIAY KL B:OIaX4C) =YL Ty =L
.. R A 31, 34— 1| = BE—X (£H)
ol 6| VRN TR RN e A AR ’ (f]:) RUXS
LiANRINGZR BYRLILTFg s EE 45035
S b 3 | WTHRE 1:31.9 1-1-1-2 | 40.6 | — 1 495 | ABMERK (ER)
311 |¥TNVVTEE 54.0 75%) ) |EEE
X7 T—=R VT T—F B:OFNALTED el -
. FEHAEER . P _ HExiE (&8)
4 3| FTyvTay b=l o4 &% (11.312/.22) 6-6-6-6 | 39.4 7 :_3:) $#§
R:8=/F¥LLy b B b0 T4T7 =Eizier]
o it 5 | BXTHA 1:32.3 4-5-5-5 [39.9| — 4 406 | WTEX (&)
5(8[10| TTNINA %53.0 (172 Oy | omEm
R:T7RIAYKZ B:OHH75 O EE
. 5 AEE—BB :32. -3~ . = JIBEEF (£8)
6155 SRR IS # 5 ;5_0 1(322)7 2-2-3-4 | 40.9 5 (4+679) Tt i
L:JFRT8— B4 3I2—hR HE SRk
N 4 3 | SHIEE 1:33.2 9-8-7-7 | 39.6| — 10 463 | =/EHEA (EH)
7 4 IN—TJIR— 54.0 (21/2) o) X -
R:772AUILT7 BwYV/ETq LS.
o= AR :33. ~7-8- . - RER (KH)
8 NAEEETER S i 3 oy (11313/25) 7-7-8-8 | 40.0 8 <4+131) S
RiANSNYR FiagAITLIR SAYELRT7— L
N . e AT .34, -10-9- . — BART (£8)
olglg|try—%% i 3 RS 1(364)7 10-10-9-9 | 40.5 9 (fﬁ) ggé; "
gL IYHA LR BhAvs+—0F E
P 3 i 3 | NISHE 1:36.6 8-9-10-10 | 42.5| — 6 454 | KEAE (1£8)
107/ 8| 7EH—>+ £52.0 (%241 4) (-g) | BEERX
R:FLNTyTItE B:AHT E=tie
® 1 — @B
1T=7r= 1,5,6,10,7,3,2,8,4,9
23—94— 1,5,6,7,10,3,2,4,8,9
Ja=5= 1,7,5,6,10,3,4,2,9,8
40—+ — 7,1,6,5,10,3,4,2,9,8
[ /N
B 7 230M 714K 6-7 150 e E 6-7 880 JEE 1-6-7 250M
B B 7 1004 1-7 100M B = 6-7 1,1108 JEE 7-6-1 1,810
6 140 1-6 240M B H 7-6 1,180
1 1009

ABICOVWTRDTEEERROODE. TR LIV,



